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1. Two partners Deepa and Ziya start a
business by investing ` 50,000 and
` 40,000 respectively. What will be the
ratio of their profits at the end of the year ?

nks lk>snkj nhik vkSj ft;k Øe'k% ` 50]000 vkSj
` 40]000 dk fuos'k djds ,d O;olk; 'kq: djrs gSaA
o"kZ ds var esa muds ykHk dk vuqikr D;k gksxk\
(a) 5 : 4 (b) 3 : 6

(c) 4 : 5 (d) 6 : 3

2. Raju and Sanju started a business by
investing ` 36,000 and ` 63,000.Find the
share of each out of the annual profit of
` 5500.

jktw vkSj latw us ` 36000 vkSj ` 63000 dk fuos'k
djds ,d O;olk; 'kq: fd;kA ` 5500 ds okf"kZd ykHk
esa ls çR;sd dk fgLlk Kkr dhft,A
(a) 2000, 3500 (b) 2500,3500

(c) 3500, 2500 (d) None of these

3. A, B and C started a business investing
amounts of ` 13,750 ` 16,250 and ` 18,750
respectively. If B’s share in the profit is
5,200. What is the difference in the profit
(in Rs.) earned by A and C?

A, B vkSj C us Øe'k» ` 13]750 ` 16]250 vkSj
` 18]750 fuos'k djds ,d O;olk; 'kq: fd;kA ;fn
ykHk esa B dk 'ks;j ` 5]200 gSA A vkSj C }kjk vftZr
ykHk (` esa) D;k varj gS Kkr djsA

SSC CPO 25/11/2020 (SHIFT-01)

(a) ` 1,520 (b) ` 1,600

(c) ` 1,200 (d) ` 1,800

4. The ratio of investment by A to that by B
is a business is 14 : 15 and the ratio of
their respective profits at the end of a year
is 2 : 5. If A invested the money for 3
months, then for how much time (in
month) B invested his money?

,d O;olk; esa A vkSj B ds }kjk fd;s x, fuos'k dk
vuqikr 14 % 15 gS rFkk o"kZ ds var esa muds ykHkksa dk
vuqikr 2 % 5 gSA ;fn A us 3 ekg ds fy, jkf'k fuos'k
dh Fkh] rks B }kjk fuos'k dh x;h jkf'k dh vof/
(eghus esa) fdruh Fkh\

SSC CGL TIER II, 11/09/2019

(a) 7 (b) 6

(c) 5 (d) 9

5. Sukanya and Chavi start a business. They

invest ` 60,000 and ` 75,000 for 8 months

and 12 months respectively. How many

percent profit (approx) will Sukanya get at

the end of the year?

lqdU;k vkSj Nfo ,d O;kikj dh 'kq:vkr djrh gS
ftlesa os Øe'k% ` 60]000 rFkk ` 75]000 yxkrh gS
rFkk os Øe'k% 8 eghus rFkk 12 eghus rd O;kikj esa
jgrh gSA o"kZ ds var esa O;kikj esa gksusokyk ykHk dk
yxHkx fdruk izfr'kr fgLlk lqdU;k dks feysxk\
(a) 52%

(b) 68%

(c) 45%

(d) 35%

6. A, B and C invest ` 40000,  ` 45,000 and

` 60,000 respectively in a business. They

invest for 5, 4 and 3 months respectively.

How many percent of the total profit will

be received by C?

A, B rFkk C futh O;kikj esa Øe'k% ` 40]000]
` 45]000 rFkk ` 60]000 fuos'k djrs gSaA ;s Øe'k% 5]
4 rFkk 3 eghus rd O;kikj esa jgsA dqy ykHk dk yxHkx
fdruk izfr'kr Hkkx C dks izkIr gksxk\
(a) 32% (b) 36%

(c) 40% (d) 27%

7. A, B and C invest in the ratio   of
4 2 5

: :
5 3 8

respectively. Their investing

time is in the ratio of 10 : 9 : 4. The profit

earned by C is  what percent less than A?

A, B rFkk C Øe'k%
4 2 5

: :
5 3 8

vuqikr esa iw¡th fuos'k

djrs gSa rFkk os ftrus le; rd O;kikj esa jgrs gSa
mlesa 10 % 9 % 4 dk vuqikr gSA C dks izkIr gksus

okyk ykHk A ds ykHk ls fdruk izfr'kr de gS\

 (a)  68.75%

(b) 65.5%

(c) 60.54%

(d) None of these

PARTNERSHIP (lk>snkjh)
(CLASSROOM SHEET)
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8. A, B and C invested capital in ratio 5 : 7 : 4,

then time of their investment being in the

ratio x : y : z. If their profits are in the ratio

45 : 42 : 28, then x : y : z = ?

A, B vkSj C us 5 : 7 : 4 ds vuqikr esa iw¡th yxkbZA
muds fuos'k dk le; x : y : z ds vuqikr esa gSA ;fn
mudk ykHk 45 % 42 % 28 ds vuqikr esa gS] rks x : y : z

D;k gksxk\
CGL TIER II, 16/11/2020

(a) 9 : 6 : 7 (b) 6 : 7 : 9

(c) 9 : 4 : 7 (d) 7 : 9 : 4

9. Three partners shared the profit in a

business in the ratio 8 : 7 : 5. They invested

their capitals for 7 months, 8 months and

14 months respectively. What was the ratio

of their capitals?

rhu Hkkxhnkjksa us 8 % 7 % 5 ds vuqikr esa ,d O;olk;
esa ykHk lk>k fd;k vkSj mUgksaus Øe'k% 7 eghus] 8
eghus vkSj 14 eghus ds fy, viuk /u fuos'k fd;kA
muds /u dk vuqikr D;k Fkk Kkr djsA

SSC CPO 24/11/2020 (SHIFT-02)

(a) 49 : 64 : 20 (b) 20 : 64 : 49

(c) 64 : 49 : 20 (d) 20 : 49 : 64

10. A, B and C invested their capitals in the

ratio of 2 : 3 : 5. The ratio of months for

which A, B and C invested is 4 : 2 : 3. If C

gets a share of profit which is ` 1,47,000

more than that of A, then B’s share of

profit is:

A, B vkS C us viuh iw¡th 2 % 3 % 5 ds vuqikr esa
yxkbZA A, B vkSj C ds }kjk fuos'k dh xbZ jkf'k;ksa
dh vof/ (eghus esa) dk vuqikr 4 % 2 % 3 gSA ;fn
C dks ykHk dk ,d fgLlk izkIr gksrk gS tks A ds
fgLls ls  ` 1]47]000 vf/d gS] rks bl ykHk esa B

dk fgLlk Kkr djsaA
(a) ` 1,26,000 (b) ` 1,68,000

(c) ` 1,05,000 (d) ` 1,89,000

11. Four milkmen rented a pasture. A grazed

24 cows for 3 months, B-10 for 5 months,

C-35 cows for 4 months and D-21 cows for

3 months. If A’s share of rent is

` 720, find the total rent of the field ?

pkj nwf/;ksa us ,d pkjkxkg fdjk, ij fy;kA A&3
eghus ds fy, 24 xk;ksa dks] B&5 eghus ds fy, 10
xk;ksa dks] C&4 eghus ds fy, 35 xk;ksa dks vkSj D&3
eghus ds fy, 21 xk;ksa dk pjkrk gSA ;fn fdjk, esa
A dk fgLlk ` 720 gS] rks {ks=k dk dqy fdjk;k Kkr
dhft,\
(a) ` 1,400 (b) ` 1,900

(c) ` 3,250 (d) ` 3,000

12. Ratio of the capital amount of A, B and C

respectively is 
4 2 5

: :
5 3 8

 and ratio of their

time investment is respectively 10 : 9 : 4.
The profit amount of A is how much
percent more than C?

A, B vkSj C ds }kjk yxk;h xbZ iw¡th dk vuqikr

Øe'k% 
4 2 5

: :
5 3 8

 gS vkSj buds }kjk yxk;s le;

dk vuqikr 10 % 9 % 4 gS] rks A dk ykHk C ds ykHk
ls fdruk izfr'kr T;knk gS\
(a) 160% (b) 220%

(c) 70% (d) 95%

13. A, B anc C invest in a business. A invests

1

4
 of the total capital for 

1

4
th time. B

invests 
1

5
th of the total capital for 

1

5
th

time and the remaining capital is invested
by C for the whole time. If the total profit
is ` 7,830, then what will be the profit of
C?

A, B vkSj C ,d O;kikj dh 'kq:vkr djrs gSa rFkk A

O;kikj esa yxus okyh dqy iw¡th dk 
1

4
 Hkkx 

1

4

le; ds fy,] B dqy iw¡th dk 
1

5
 Hkkx 

1

5
 le; ds

fy, rFkk C 'ks"k iw¡th iwjs le; ds fy, yxkrk gSA
;fn dqy ykHk ` 7]830 gks] rks mlesa ls C dk fgLlk
D;k gksxk\
(a) ` 6,000 (b) ` 6,600

(c) ` 6,400 (d) ` 6,200

14. A, B and C are partners in a business. A
whose money has been used for 4 months

claims 
1

8
 of profit, B whose money has

been used for 6 months, claims 
1

3
 of the

profit. C  had invested ` 1560 for 8
months. What is the difference between
investment of A and B.

A, B vkSj C ,d O;olk; esa lk>snkj gSaA A ftlds

/u dk mi;ksx 4 eghus ds fy, fd;k tkrk gS] 
1

8
ykHk dk nkok djrk gS] B ftlds /u dk 6 eghus ds

fy, mi;ksx fd;k tkrk gS] 
1

3
 ykHk dk nkok djrk

gSA C us 8 eghus ds fy, 1560 #i;s dk fuos'k fd;k
FkkA A vkSj B ds fuos'k esa D;k varj gS\
(a) ` 720 (b) ` 560

(c) ` 420 (d) ` 500
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15. A, B and C all together invest ` 48,000.

Ratio of their time investment is 99 : 77 : 84

and ratio of their profit amount is

respectively 3 : 2 : 4. Find the investment

amount of A?

A, B vkSj C rhuksa feydj dqy ` 48]000 ,d O;kikj
esa fuos'k djrs gSaA ;fn buds le; dk vuqikr Øe'k%
99 % 77 % 84 gks rFkk ykHk dk vuqikr Øe'k% 3 % 2 % 4
gks] rks A ds }kjk fuos'k dh xbZ jkf'k crk,¡\
(a) ` 13,000

(b) ` 15,000

(c) ` 14,000

(d) ` 15,500

16. ` 15,000 was invested by A and B together

to start a small business. They got a profit

of ` 2,000 at the end of the year. B took

his profit share of ` 600. How much did A

invest?

A vkSj B }kjk ,d lkFk fdlh NksVs O;olk; dh
'kq:vkr djus ds fy, ` 15]000 fuos'k fd;s x,A
mUgsa o"kZ ds var esa ` 2000 dk ykHk gqvkA B us ykHk
esa ls viuk fgLlk ` 600 fy;k] rks A dk fuos'k
fdruk Fkk\

SSC CPO 16/03/2019 (SHIFT-03)

(a) ` 9,000

(b) ` 2,000

(c) ` 10,500

(d) ` 10,000

17. A, B and C entered into a partnership. A

invested ` 2560 and B ` 2000. At the end

of the year. they gained ` 1105, out of

which A got ` 320. C’s capital was

A, B vkSj C us ,d lk>snkjh esa izos'k fd;kA A us
` 2560 vkSj B us ` 2000 #i;s dk fuos'k fd;kA o"kZ
ds var esa mUgksaus ` 1105 dk ykHk vftZr fd;k] ftlesa
ls A dks ` 320 izkIr gq,A C dh iw¡th fdruh Fkh\
(a) ` 4,280 (b) ` 2,840

(c) ` 4,820 (d) ` 4,028

18. A, B and C started a business. Thrice the

investment of A is equal to twice the

investment of B and also equal to four

times the investment of C. If C’s share out

of the total profit is ` 4,863, then the share

of A in the profit is:

A, B vkSj C us ,d O;olk; dh 'kq:vkr dhA A ds
fuos'k dk frxquk B ds fuos'k ds nksxqus rFkk C ds
fuos'k ds pkj xquk ds cjkcj gSA ;fn dqy ykHk esa C
dk fgLlk ` 4]863 gS] rks bl ykHk esa A dk fgLlk
Kkr djsaA

SSC CGL TIER II 13/09/2019

(a) ` 7,272

(b) ` 6,484

(c) ` 9,726

(d) ` 8,105

19. Three partners A, B and C start a business.

Twice of A’s capital is equal to three times

of B’s capital is equal to four times of C’s

capital. Out of total profit of ` 19,500 at

the end of the year, B’s share is ?

rhu lk>snkj A, B vkSj C ,d O;olk; 'kq: djrs gSaA
A dh iwath dk nksxquk B dh iw¡th ds rhu xquk ds
cjkcj gS vkSj C dh iw¡th ds pkj xquk ds cjkcj gSaA
o"kZ ds var esa ` 19]500 dh dqy ykHk esa ls B dk
fgLlk Kkr djsaA
(a) ` 7,000

(b) ` 6,000

(c) ` 9,000

(d) ` 9,700

20. A, B, C subscribe a sum of ` 75,500 for a

business. A subscribes ` 3,500 more than

B, and B subscribes ` 4,500 more than C.

Out of a total profit of ` 45,300 how much

(in `) does A receive?

A, B o C ,d O;olk; ds fy, ` 75]500 dk fuos'k
djrk gSA A, B ls ` 3]500 vfèkd fuos'k djrk gS]
vkSj B, C ls ` 4]500 vfèkd fuos'k djrk gS] dqy
ykHk ` 45]300 esa ls A dks fdruk çkIr gksxkA

SSC CPO 25/11/2020 (SHIFT-02)

(a) ` 12,600

(b) ` 15,000

(c) ` 17,400

(d) ` 14,700

21. A puts ` 375 more in a business than B,

but B has invested his capital for 4 months

while A has invested his capital for 8

months. If the share of A is ` 75 more than

that of B out of the total profit of ` 125,

find the capital contributed by B ?

A, B dh rqyuk esa fdlh O;olk; esa ` 375 vf/d
yxkrk gS] ysfdu B viuh iwath 4 eghus ds fy, fuos'k
djrk gS tcfd A us viuh iwath 8 eghus ds fy,
fuos'k dh gSA ;fn ` 125 dh dqy ykHk esa ls A dk
fgLlk B ls ` 75 vf/d gSA rks B }kjk ;ksxnku dh
xbZ iwath dk irk yxk,a\
(a) ` 750 (b) ` 375

(c) ` 735 (d) ` 573
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When Someone Joined or Left

22. Kapil starts some business with
` 50000 . After 3 months Monu joins him
with ` 70000 . At the end of the year. In
what ratio should they share the profit ?

dfiy ` 50]000 ls dqN O;olk; 'kq: djrk gSA 3
eghus ds ckn eksuw ` 70]000 ds lkFk mlds lkFk tqM+
tkrk gSA lky ds var esa mUgsa fdl vuqikr esa ykHk
lk>k djuk pkfg,\
(a) 1 : 3

(b) 1 : 5

(c) 3 : 2

(d) 20 : 21

23. Pihu starts a business with ` 50,000. After
3 months Golu joins him with ` 70,000. At
the end of the year, in what ratio should
they share the profit?

ihgq ` 50000 yxkdj ,d O;kikj dh 'kq:vkr djrh
gSA 3 eghus ckn xksyw ` 70]000 yxkdj O;kikj esa 'kkfey
gks tkrk gSA o"kZ ds var esa os ykHk dks fdl vuqikr esa
vkil esa ckaVsaxs\
(a) 12 : 13

(b) 13 : 12

(c) 11 : 15

(d) 20 : 21

24. Ramesh started a business investing a sum
of ` 40,000. Six moths later, Kevin Joined
by investing ` 20,000. If they make a profit
of ` 10,000 at the end of year, how much
is the share of kevin?

jes'k us ` 40]000 dh jkf'k dk O;olk; 'kq: fd;kA
Ng eghus ckn] dsfou ` 20]000 fuos'k djds 'kkfey
gks x;kA ;fn os o"kZ ds var esa ` 10]000 dk YkkHk
dekrs gSa] rks dsfou dk fgLlk fdruk gS\

CGL TIER II 18/11/2020

(a) ` 2,000

(b) ` 4,000

(c) ` 3,000

(d) ` 2,500

25. A and B invested equal capital and started
a business. After 8 months, A left the
business. If at the end of the year the total
profit was ` 3,500, then how many `  more
did B receive to A?

A rFkk B leku iw¡th fuos'k dj ,d O;kikj 'kq:
djrs gSa rFkk A 8 ekg ckn O;kikj ls vyx gks tkrk
gSA ;fn o"kZ ds var esa dqy ykHk ` 3]500 dk gqvk
gks] rks B dks A ls fdrus #i;s vf/d ykHk izkIr
gq,\

(a) ` 700

(b) ` 750

(c) ` 500

(d) ` 1,400

26. A and B are partners in a business. They
invest in the ratio 5 : 6, at the end of 8
months A withdraws his total amount. If
they receive profits in the ratio of 5 : 9,
find how long B’s investment was used?

A vk S j B ,d O;olk; e s a  lk> snkj g S a A o s
5 % 6 ds vuqikr esa fuos'k djrs gSa] 8 eghus ds var esa
A iSlk fudky ysrk gSA ;fn mUgsa 5 % 9 ds vuqikr esa
ykHk çkIr gksrk gS] rks ;g Kkr djsa fd B ds iSls dk
fuos'k fdrus le; ds fy, gqvk Fkk\
(a) 12 months

(b) 10 months

(c) 15 months

(d) 14 months

27. A started a business with a capital of `
54000 and admitted B and C after 4
months and 6 months respectively. At the
end of the year, the profit was divided in
the ratio 1 : 4 : 5. What is the difference
between the capitals invested by B and C?

A us ` 54000 dh iwath ls ,d O;olk; dh 'kq:vkr
dh rFkk Øe'k% pkj vkSj N% eghus ckn B ,oa C dks
'kfey dj fy;kA o"kZ ds var esa ykHkksa dk forj.k
1 % 4 % 5 ds vuqikr esas fd;k x;kA B vkSj C ds }kjk
yxkbZ xbZ iwath esa D;k varj gS\

CGL TIER 11/09/2019

(a) ` 1,08,000

(b) ` 1,62,000

(c) ` 2,16,000

(d) ` 3,24,000

28. Rahul Verma started a business invested
` 36,000. After 4 months Bhuvnesh joined
him with some investment. At the end of
the year, the total profit was divided
between them in the ratio 9 : 7. How much
capital was invested by Bhuvnesh in the
business ?

jkgqy oekZ us ` 36]000 fuos'k djds ,d O;kikj vkjaHk
fd;k vkSj 4 eghus ckn Hkqous'k Hkh dqN jkf'k fuos'k
djds O;kikj esa 'kkfey gks x;kA o"kZ ds var esa ;fn
dqy ykHk dks 9 % 7 ds vuqikr esa ck¡Vk x;k] rc Hkqous'k
fdruh iw¡th yxkdj O;kikj esa 'kkfey gqvk Fkk\
(a) ` 40,000

(b) ` 42,000

(c) ` 41,000

(d) ` 35,000
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29. Sumit started some business with
` 26,000. After 3 months Amar joined him
with ` 16,000. After some more time Karan
joined them with ` 25,000. At the end of
the year, out of a total profit of ` 15,453
Karan get ` 3,825 as his share. How many
months after Amar, Karan joined the
business?

lqfer us ` 26]000 dh iw¡th fuos'k djds ,d O;kikj
'kq: fd;kA 3 ekg ds ckn vej ` 16]000 fuos'k dj
O;kikj esa 'kkfey gks x;k vkSj mlds dqN le; ckn
dju Hkh ` 25]000 fuos'k dj O;kikj esa 'kkfey gks
x;kA ;fn o"kZ ds var esa ` 15]453 ds dqy ykHk esa
dju dk fgLlk ` 3]825 gS] rks Kkr djsa fd dju us
vej ds 'kkfey gksus ds fdrus ekg ckn O;kikj esa
izos'k fd;k\
(a) 3 months (b) 4 months

(c) 5 months (d) 2 months

INCREASE/DECREASE IN CAPITAL

30. X and Y enter into a partnership with
capital in ratio 3 : 5. After 5 months X adds
50% of his capital, while Y withdraws 60%
of his capital. What is share (in ` Lakhs)
of X in the annual profit of ` 6.84 lakhs?

X vkSj Y, 3 : 5 ds vuqikr esa iw¡th ds lkFk lk>snkjh
djrs gSaA 5 eghus ckn X viuh iw¡th dk 50» tksM+rk
gS] tcfd Y viuh iw¡th dk 60» fudky ysrk gSA
` 6-84 yk[k ds okf"kZd ykHk esa X dk (` yk[k esa)
fgLlk D;k gS\

CGL TIER II 15/11/2020

(a) 3.72 (b) 4.2

(c) 3.6 (d) 3.12

31. A and B enter into a partnership with
capital in the ratio 5 : 6. After 4 months,

A withdraws 
1

5
 of his capital, while B

increases his capital by 
1

33 %
3

. What is

the share (in ` Lakhs) of B in the annual
profit of ` 6.3 Lakhs?

A vkSj B, 5 : 6 ds vuqikr esa iw¡th ds lkFk lk>snkjh

djrs gSaA 4 eghus ds ckn] A viuh iw¡th esa ls 
1

5
fgLlk

fudky ysrk gS] tcfd B viuh iw¡th esa 
1

33 %
3

dh o`f¼ djrk gSA ` 6-3 yk[k ds okf"kZd ykHk esa B

dk (` yk[k esa) fgLlk D;k gS\

CGL TIER II 16/11/2020

(a) 2.34 (b) 2.61

(c) 3.69 (d) 3.96

32. A, B and C start a business each investing
` 25,000. After 5 months A withdrew
` 6,000, B withdrew ` 7000, and C invested
` 8000 more. At the end of the year, there
is a profit of ` 86,500. Find the difference
between the share of A and B.

A, B vkSj C çR;sd ` 25]000 ds fuos'k ds lkFk ,d
O;olk; 'kq: djrs gSaA 5 eghus ckn A us ` 6]000
fudky fy,] B us ` 7000 fudky fy,] vkSj C us
` 8000 dk vkSj fuos'k fd;kA o"k Z ds var es a
` 86]500 dk ykHk gksrk gSA A vkSj B ds fgLls ds
chp dk varj Kkr dhft,A
(a) ` 900

(b) ` 12,500

(c) ` 700

(d) ` 8,600

33. Jubir and Zaid entered into a partnership
by investing ` 16,000 and ` 12,000
respectively. After 3 months Jubir
withdraw ` 5,000, while Zaid invested
` 5,000 more. Next after 3 months Kasim
joins the business with a capital of `
21,000. After a year they obtained profit
of ` 26,400. By what amount does the
share of Zaid exceed the share of Kasim?

tqosj rFkk tSn us Øe'k% ` 16]000 rFkk ` 12]000 dh
iw¡th fuos'k djds ,d O;kikj 'kq: fd;kA 3 ekg ds
ckn tqosj us ` 5]000 okil fudky fy, tcfd tSn
us ` 5]000 vkSj fuos'k fd,A mlds 3 ekg ds ckn
dkfle ` 21]000 fuos'k dj ml O;kikj esa 'kkfey gks
x;kA Kkr djsa ` 26]400 ds okf"kZd ykHk esa tSn dk
fgLlk] dkfle ds fgLls ls fdruk vf/d gS\
(a) ` 3,600 (b) ` 3,800

(c) ` 4,600 (d) ` 4,800

34. Deepak and Ayan enter into partnership
investing ` 48,000 and ` 60,000 respectively.
After 3 months, Deepak withdraw ` 8,000
while Ayan invest ` 6,000 after 6 months
of starting of business. If out of the total
amount of profit Deepak get ` 12,000 as
his share. Then at the end of the year total
profit is :

nhid rFkk v;ku us ,d O;kikj esa Øe'k% ` 48]000
rFkk ` 60]000 dk fuos'k fd;kA 3 ekg ds ckn nhid
` 8]000 fudky ysrk gS tcfd O;kikj 'kq: gksus ds 6
ekg ds ckn v;ku ` 6]000 vkSj fuos'k djrk gSA ;fn
o"kZ ds var esa dqy ykHk esa ls nhid dks ` 12]000
feyk] rks o"kZ ds var esa dqy ykHk Kkr djsa\
(a) ` 24,000

(b) ` 30,000

(c) ` 36,000

(d) ` 37,000
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35. A and B start a business and invest

` 10,000 and ` 15,000 respectively. After

3 months, A invests ` 2,000 more but B

withdraw ` 5,000. After its 3 months, C

joins the business with a capital ` 18,000.

If the total profit is ` 38,100, after one year

then find C's profit?

A vkSj B Øe'k% ` 10]000 rFkk ` 15]000 yxkdj
,d O;kikj 'kq: djrs gSaA rhu eghus ckn A, ` 2]000
vkSj fuos'k dj nsrk gS rFkk B, ` 5]000 okil ys ysrk
gSA mlds 3 eghuss vkSj ckn C, ` 18]000 yxkdj O;kikj
esa 'kkfey gks tkrk gSA ;fn ,d o"kZ ds ckn dqy ykHk
` 38]100 gks] rks o"kZ ds var esa mlesa ls C dk fgLlk
D;k gksxk\
(a) ` 9,800

(b) ` 10,800

(c) ` 11,000

(d) ` 12,000

36. Ajay and Vijay started a business and

investe ` 4,500 and ` 3,000 respectively.

After 9 months each of the decrease their

capital to 30% and Satyam joins the

business with ` 2,000. If after 
1

1
2

 years,

the total profit was ` 16,450, then the

share of Ajay and Vijay will be :

vt; vkSj fot; us ` 4]500 rFkk ` 3]000 fuos'k dj
,d O;kikj izkjaHk fd;kA 9 ekg ckn nksuksa us viuh&viuh
iw¡th 30» dj fn;k rFkk ` 2]000 ds lkFk lR;e Hkh

muds lkFk 'kkfey gks x;kA ;fn 
1

1
2

 o"kks± ds ckn

dqy ykHk ` 16]450 gks] rks mlesa ls vt; vkSj fot;
dks dqy fdrus ykHk izkIr gq,\
(a) ` 13,650

(b) ` 14,550

(c) ` 12,750

(d) ` 11,750

37. A, B and C invest in the ratio 5 : 7 : 6. After

1 year, they increase their investment

respectively 26%, 20%, 15%. What will be

the ratio of their profit after 2 year?

A, B vkSj C rhuksa 5 % 7 % 6 ds vuqikr esa fuos'k
djrs gSaA ,d o"kZ ckn ;s rhuksa vius fuos'kksa dks Øe'k%
26»] 20» vkSj 15» ls c<+k nsrs gSaA 2 lky ckn buds
ykHk dk vuqikr D;k gksxk\
(a) 7 : 6 : 9

(b) 71 : 53 : 63

(c) 112 : 117 : 105

(d) 113 : 154 : 129

DONATION/TAX

38. A and B invest in a business in the ratio
3 : 2. If 5% of the total profit goes to
charity and A's share is ` 855, the total
profit (in `) is :

A vkSj B ,d O;olk; esa 3 % 2 ds vuqikr esa fuos'k
djrs gSaA ;fn dqy ykHk dk 5» ykHk nku fn;k tkrk
gS vkSj A dk fgLlk ` 855 gks] rks dqy ykHk D;k
gksxk\
(a) ` 1,455 (b) ` 1,500

(c) ` 1537.50 (d) ` 1,576

39. A and B together start a business and
invest in the ratio of 5 : 4 respectively.
They deposit 10% of the total profit in a
trust and distribute the rest amount
according their investment. If B's share is
` 1,200, then the total profit will be ?

A vkSj B feydj ,d O;kikj vkjaHk djrs gSa vkSj
5 % 4 ds vuqikr esa iw¡th fuos'k djrs gSaA O;kikj esa
gksus okyk ykHk dk 10» ,d VªLV esa tek djds 'ks"k
ykHk dks iw¡th ds vuqlkj ck¡Vk tkrk gSA ;fn B dk
fgLlk ` 1]200 gks] rks dqy fdrus #i;s dk ykHk gqvk\
(a) ` 4,200 (b) ` 3,600

(c) ` 3,200 (d) ` 3,000

40. Atul Reader publication makes a profit of
` 9,00,000, 20% of which is paid as taxes.
If the rest is divided among the partners

P, Q and R in the ratio of 1 : 1
1

2
 : 2 then

the shares of P, Q and R are respectively :

vrqy jhMj ifCyds'ku ` 9]00]000 dk ykHk dekrh
gS ftlds 20» Hkkx dk Hkqxrku dj ds :i esa fd;k
tkrk gSA ;fn 'ks"k ykHk P, Q rFkk R dks Øe'k% 1 :

1
1

2
 : 2 ds vuqikr esa fn;k tkrk gS] rks Kkr djsa

izR;sd dk fgLlk D;k gS\
(a) ` 2,40,000, ` 3,20,000, ` 1,60,000

(b) ` 3,20,000, ` 2,40,000, ` 1,60,000

(c) ` 1,60,000, ` 3,20,000, ` 2,40,000

(d) ` 1,60,000, ` 2,40,000, ` 3,20,000

41. The investments made by Ayan and Prince
are in the ratio 3 : 2. if 5% of total profit
is donated and Ayan get ` 8,550 as his
share of profit, then what is the amount
of total profit?

v;ku rFkk ¯çl viuh iw¡th Øe'k% 3 % 2 ds vuqikr
esa fuos'k djrs gSaA ;fn dqy ykHk dk 5» nku ik=k esa
tek fd;k x;k rFkk v;ku us ` 8]550 dk ykHk izkIr
fd;k ] rks dqy ykHk Kkr djsaA
(a) ` 14,000 (b) ` 15,000

(c) ` 11,050 (d) ` 12,020
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DISTRIBUTION

42. A & B invest ` 30,000 & ` 20,000 and 80%
of total profit distribute equally among
them. Rest profit distribute according to
invest-ment ratio. The difference between
the share of A & B is 4000. Find the total
profit and find the share of A & B?

A vkSj B Øe'k% ` 30]000 vkSj ` 20]000 fuos'k dj
lk>s esa ,d O;kikj dh 'kq:vkr djrs gSaA os yksx dqy
ykHk dk 80» vkil esa cjkcj ls ck¡V ysrs gSa rFkk 'ks"k
ykHk dks vius }kjk fuosf'kr iw¡th ds vuqikr esa ck¡Vrs
gSaA A vkSj B ds fgLls esa ` 4]000 dk varj gS] dqy
ykHk rFkk A vkSj B dk fgLlk Kkr djsaA
(a) ` 8000, ` 42000, ` 38000

(b) ` 100000, ` 52000, ` 48000

(c) ` 9000, ` 52000, ` 38000

(d) ` 12000, ` 62000, ` 58000

43. A & B start a business in partnership and
invest ` 40,000 & ` 60,000. 60% of total
profit is distributed among them equally
and the rest profit distributed between
them according to their investment ratio.
The difference between their profit is `
6,000. find the total profit amount?

A vkSj B lk>s esa ,d O;kikj dh 'kq:vkr djrs gSa
rFkk Øe'k% ` 40]000 vkSj ` 60]000 fuos'k djrs gSaA
os yksx dqy ykHk dk 60» vkil esa cjkcj&cjkcj
ck¡V ysrs gSa rFkk 'ks"k ykHk dks vius }kjk fuosf'kr iw¡th
ds vuqikr esa ck¡Vrs gSaA muds ykHk dk varj ` 6]000
gks] rks dqy ykHk crk,¡A
(a) ` 52,000

(b) ` 60,000

(c) ` 62,000

(d) ` 75,000

44. Two brother Yasir and Ankur invested
` 50,000, and  ` 70,000 respectively in a
business and agreed that 70% of the profit
should be divided equally between them
and the remaining profit in the ratio of
investment. If Ankur gets ` 90 more Yasir.
Find the total profit made in the business.

nks HkkbZ ;kflj vkSj vadqj us ,d O;kikj dh 'kq:vkr
esa Øe'k% ` 50]000] vkSj ` 70]000 dh iw¡th fuos'k
dhA lk>snkjh dh 'krZ ;g fd dqy ykHk dk 70» leku
:i ls rFkk 'ks"k ykHk fuosf'kr iw¡th ds vuqikr esa ck¡Vk
tk,xkA ;fn vadqj dks ;kflj ls ` 90 vfèkd feyrs
gSa] rks Kkr djsa O;kikj esa dqy fdruk ykHk gqvk\
(a) ` 1200

(b) ` 1400

(c) ` 1600

(d) ` 1800

MANAGEMENT

45. Nasir is a working partner and Rohit is a
sleeping partner in a business and Nasir
puts in ` 5,000 and Rohit puts in ` 6,000.
nasir received 15% of the profit for
managing the business and the rest is
divided in proportion to their capitals. The
amount received by Nasir out of the total
profit of ` 880.

,d O;kikj esa ukflj lfØ; lk>snkj gS rFkk jksfgr
fuf"Ø; lk>snkj gSA ukflj ` 5000 yxkrk gS rFkk jksfgr
` 6000 yxkrk gSA ukflj dks ykHk dk 15» O;kikj
laHkkyus ds fy, feyrk gS vkSj 'ks"k ykHk muds iw¡th
ds vuqikr esa muds chp c¡V tkrk gSA ` 880 ds dqy
ykHk esa ls ukflj dks fdruh jkf'k feysxh\
(a) ` 132 (b) ` 34-0

(c) ` 472 (d) ` 492

46. A, B and C are three partners. A receives
9

10
 of the profit and B and C share the

remaining profit equally. A's income is
increased by ` 270 when the profit rises
from 12% to 15%. Find the capitals
invested by B and C.

A, B vkSj C rhu lk>snkj gSaA A dks ykHk dk 
9

10
Hkkx izkIr gksrk gSA B vkSj C 'ks"k ykHk dks vkil esa
cjkcj&cjkcj ck¡V ysrs gSaA A dh vk; esa ` 270 dh
o`f¼ gks tkrh gS tc mldk ykHk 12» ls c<+dj 15»
gks tkrk gSA B vkSj C }kjk fuos'k dh xbZ dqy jkf'k
crk,¡A
(a) ` 5000 (b) ` 1000

(c) ` 500 (d) ` 1500

47. Ankit, Ashish and Ayan together started a
business. Ankit invested ` 6,500 for 6
months, Ashish invessted ` 8,400 for 5
months and Ayan invested ` 10,000 for 3
months. Ankit is working member for
which he gets 5% of total profit extra. If
the total gain is ` 7,400, then Ayan's share
is :

vafdr] vk'kh"k rFkk v;ku us feydj ,d O;kikj 'kq:
fd;kA vafdr us 6 eghus ds fy, ` 6]500 dk fuos'k
fd;kA vk'kh"k us 5 eghus ds fy, ` 8400 dk fuos'k
fd;k rFkk vk;ku us 3 eghus ds fy, ` 10]000 dk
fuos'k fd;kA O;kikj laHkkyus ds fy, vafdr dks dqy
ykHk dk 5» Hkh feyrk gSA ;fn dqy ykHk ` 7]400
#i, gS] rks v;ku dk fgLlk Kkr dhft,A
(a) ` 1900 (b) ` 2100

(c) ` 3200 (d) Date incomplete



M
at

hs
 b
y

A
di

ty
a 

R
an

ja
n 

si
r

[ 8 ]

48. Bhagat, Harish and Rohit started a
business by investing ` 24,000, ` 32,000
and ` 18,000 respectively. Bhagat and
Harish are active partners and get 7% and
19% of total profit and remaining profit is
to be distributed among them in the ratio
of their investment. If Rohit got total `
144000 as a profit, what was the total
amount of profit?

Hkxr] gjh'k rFkk jksfgr ,d O;kikj esa Øe'k% ` 24000]
` 32000 rFkk ` 18000 fuos'k djrs gSaA Hkxr rFkk gjh'k
lfØ; lk>snkj gSa rFkk mudks dqy ykHk dk Øe'k%
7» rFkk 19» izkIr gksrk gSA 'ks"k ykHk dks muds }kjk
fuosf'kr iw¡th ds vuqikr esa ck¡V fn;k tkrk gSA ;fn
jksfgr dks dqy ` 144000 ykHk ds :i esa izkIr gqvk
gks] rks Kkr dhft, fd ykHk dk dqy jkf'k D;k Fkh\
(a) ` 4,70,000

(b) ` 8,00,000

(c) ` 3,45,000

(d) ` 1,57,000

49. A and B start a business investing ` 20000
and ` 8000 respectively. According to the
convenant, B gets ` 200 per month for
maintenance and both get interest at the
rate of 5% per annum on their capital.
Remaining profit will be distributed
according to their investment. If the
annual profit is ` 8000, then find the share
of each person?

A vkSj B Øe'k% ` 20000 rFkk ` 8000 fuos'k djds
,d O;kikj vkjaHk djrs gSaA lk>snkjh dh 'krZ ;g gS
fd O;kikj dh ns[kHkky ds fy, B dks ` 200 izfr
ekg fn, tk,axs rFkk 5» okf"kZd nj ls mudh iw¡th ij
mu nksuksa dks C;kt Hkh feysxkA 'ks"k ykHk dks oks nksuksa
fuosf'kr iw¡th ds vuqikr esa ck¡V ysaxsA ;fn okf"kZd ykHk
` 8000 gks] rks mlesa ls izR;sd dk fgLlk D;k gksxk\
(a) ` 4000, ` 4000

(b) ` 4000, ` 3000

(c) ` 2000, ` 2500

(d) ` 2500, ` 2000

50. A and B are two partner in a business and
invests total capital ` 45000 by A. B gets
` 100 per month for maintenance and the
remaining profit is distributed equally.
According to the convenant, B will pay
interest on A's half capital at the rate of
5% per annum. Finally B's income becomes
half that of A's. What was the total profit?

fdlh O;kikj esa A vkSj B nks lk>hnkj gSa rFkk laiw.kZ
iw¡th ` 45000 A fuos'k djrk gSA O;kikj dh ns[kHkky
gsrq B dks ` 100 izfr ekg fn, tkrs gSa rFkk 'ks"k ykHk

dks nksuksa cjkcj&cjkcj ck¡V ysrs gSaA lk>snkjh dh 'krZ
ds vuqlkj B, A dh vk/h iw¡th ij 5» okf"kZd nj ls
C;kt Hkqxrku djsxkA var esa B dh vk; A dh vk/h
gks tkrh gSA dqy ykHk D;k Fkk\
(a) ` 7200

(b) ` 3150

(c) ` 3500

(d) ` 6100

MISCLLANEOUS

51. A and B invest respectively ` 20000 and
30000 and start a business in partnership.
A got ` 500 for a supervision. A and B both
received premium on their investment 10%
p.a. and the rest profit is distributed
among them according to their
investment. If total profit is ` 71000, then
find the profit of A.

A vkSj B Øe'k% ` 20000 vkSj ` 30000 fuos'k dj
lk>s esa ,d O;kikj dh 'kq:vkr djrs gSaA A dks ns[kjs[k
ds fy, ` 500 izfr eghuk vyx ls fn;k tkrk gSA A
vkSj B nksuksa dks vius fuos'k ij 10» okf"kZd ds nj
ls izhfe;e Hkh fn;k tkrk gS rFkk 'ks"k ykHk dks vius
fuos'k ds vuqikr esa vkil esa ck¡V ysrs gSaA ;fn dqy
ykHk ` 71000 gS] rks A dk ykHk crk,¡A
(a) ` 46000

(b) ` 45000

(c) ` 48000

(d) ` 32000

52. A and B invest respectively ` 80,000 and
` 60,000 to start a business into
partnership. B got ` 250 per month for a
supervision. A and B both receive the
premium at the rate of 10% p.a. and the
rest profit distribute between them
according to their investment. If total profit
distributed between them is ` 20500, then
find the total profit amount received by B?

A vkSj B Øe'k% ` 80]000 vkSj ` 60]000 fuos'k dj
lk>s esa ,d O;kikj dh 'kq:vkr djrs gSaA B dks ns[kjs[k
ds fy, ` 250 izfr eghuk vyx ls fn;k tkrk gSA A
vkSj B nksuksa dks vius fuos'k ij 10» okf"kZd ds nj
ls izhfe;e Hkh feyrk gS rFkk 'ks"k ykHk dks vius fuos'k
ds vuqikr esa vkil esa ck¡V ysrs gSaA ;fn dqy ykHk
` 20]500 gS] rks B dks izkIr dqy ykHk crk,¡A
(a) ` 10,500

(b) ` 10,700

(c) ` 9900

(d) ` 9600



53. X contributes ` 1500 and Y, ` 900 in a

business. X is a sleeping partner and Y gets

10% of the profit for management and the

rest of the profit is divideding the

proportion of their capital. If total profit

is ` 800, what is the share of Y?

X rFkk Y ,d O;kikj esa Øe'k% ` 1500 rFkk ` 900
iw¡th fuos'k djrs gSaA X ,d fuf"Ø; ikVZuj gS rFkk Y
dqy ykHk dk 10» O;kikj laHkkyus ds fy, ysrk gS
rFkk 'ks"k ykHk buds chp yxkbZ xbZ iw¡th ds vuqikr esa
ck¡V nh tkrh gSA ;fn dqy ykHk ` 800 gS] rks blesa Y
dk fgLlk gS %
(a) ` 375

(b)  ` 360

(c) ` 350

(d) ` 450

54. Anil is an active and Vimal is a sleeping

partner in a business. Anil invests ` 12000

and Vimal, invests ` 20000. Anil receives

10% profit for managing, the rest being

divided in proportion to their capitals. Out

of the total profit of ` 9000, the money

received by Anil is :

vfuy ,d lfØ; vkSj foey ,d fuf"Ø; lk>snkj gSaA
vfuy ` 12000 rFkk foey ` 20000 fuos'k djrk gSA
vfuy O;olk; dh ns[kjs[k ds fy;s 10» dqy ykHk

dk vftZr djrk gS vkSj 'ks"k ykHk mudh jkf'k ds vuqikr
esa ck¡Vrs gSaA dqy ` 9000 ds ykHk esa ls vfuy dk
fgLlk Kkr djsaA
(a) ` 4500

(b) ` 4800

(c) ` 4600

(d) ` 39375

55. A, B, C invest in a business in the ratio 4 :

5 : 7. C is a sleeping partner, so his share

of profits will be half of what it would have

been if he were a working partner. If they

make ` 36,000 profit of which 25% is

reinvested in the business, how much does

B get (in `)?

A, B vkSj C us fdlh fctusl esa 4 % 5 % 7 ds vuqikr

esa fuos'k fd;kA C Lyh¯ix ikVZuj gSA vr% mldk fgLlk

ml fgLls dk vk/k gksxk vxj og o²dx ikVZuj gksrkA
;fn mUgsa ` 36]000 dk ykHk gksrk gSA ftlesa ls os
25» fctusl esa iqu% fuos'k dj nsrs gSa] rks B dks
fdruk feysxk (` esa)
(a) 7560

(b) 10,800

(c) 8540

(d) 9200
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